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ECONOMIC AND SOCIAL DEVELOPMENT

Part-1/94mT1-1

Marks — 30/ 3% - 30

AT TWYM A A 15 T E | FHT 0 AEE F | U U9 % o 02 37 e
£
Note : There are 15 questions in this part. All questions are compulsory. Each

question carries 02 marks.

Tog foo 57 T & 2 9% STEROT fREH 1 F 2 [ST2 |

What is ‘Hindu Growth Rate’ ? Who has given this concept ?

[Answer Limit :

FIEE Tl F 3T 34T 90T & 9
What do you mean by International Liquidity ?

] @I & T F T T TR 7 2

What do you understand by Current Account Deficit 7 [Answer Limit

Write two revenue sources of the Central Government.

“=fesel a9 3ERT o 3TeHe] o & F o=l Hiew |
Discuss about the Chairman of 14™ Finance Commission.

[Answer Limit :

AT T R 2
What is *NITI" Commission ?

State any three important challenges of India’s export sector.

[Answer Limit :

R HEF0T T IRAOHS T T T 47 9 & 2 [ST% |i= T

What do you mean by quantitative methods of credit control ?

[Answer Limit :

SR
[Answer Limit :

i
: 20 words]

[STR |

[Answer Limit :

[ZT7 I

i
[Answer Limit :

[ST |4

: 20 words]

20 words]

20 words]
20 words]

20 words]

20 words]
20 words]

20 words]
20 words]

20 words]
20 words]

20 words]

20 words]

: 20 words]

20 words]

AT TEEIF ST % FAA S S0 T=edd I % AR § a0 99 % S %

[So¢ o0

20 words]

List reasons for the gap of three years between the termination of the Third Five

Year Plan and the beginning of the Fourth Five Year Plan.

[Answer Limit :

R H10T & T 9% 991 & 9
What are the six components of Bharat Nirman ?

20 words]

[ =41 : 20 words]
[Answer Limit : 20 words]

Downloaded from: http://studymaratrronrcem::



11

12

13

14

15

16

17

18

19

20

21

WA ST T ST YT Se0T 9 BidT & 2 [So% =7
How is "use based classification” of industries in India 7 [Answer Limit
FEA TEFAT T BT & 9 [S¥7 =
What is cropping intensity ? [Answer Limit
TTREUS 9 % U9 TN 3T 5 A % 9 W d BT §, % A oEd |
[ST%

20 words]

: 20 words]

20 words]

: 20 words]

20 words]

Name Panch Prayag and the rivers on whose confluence they are situated, of

Uttarakhand State.

L o O ™~ =, ~ =
3T TR Td UiH=S & ?
What for is Auli famous ?

HIT (FIET) TS FME ?
What is Yartsa-Gumba/cordyeeps sinensis/keeda jadi ?

Part -2/ 9nT-2

[Answer Limit :
[Z% =

[Answer Limit :

[ETR 9 :
[Answer Limit :

20 words]

20 words]
20 words]

20 words]|
20 words]

Marks — 50 / 3/ - 50

= |
Note :
question carries 05 marks.

H 9 A % 10 U F TG 9 A & | U 0e % 1 05 376 e

There are 10 questions in this part. All questions are compulsory. Each

e Tais =t TEIoT i AT 9 901 52vd % 99Esd | (39 94 : 50 words]

Define economic planning and explain its basic objective.

[Answer Limit : 50 words]|

1991 | WRT i M Aifq § ERIREF T2 T FEH T F TH#] 7 1 TS |

[ST/ H

50 words]

Explain any three reform measures that have been introduced in India’s trade

policy since 1991.

Torseh fafea geraT SraTas (SFHT) T JRT S |

Throw light on Foreign Exchange Management Act (FEMA).

[T 9=

[Answer Limit :

o Ii8d HY (I2) T AT FHINTT |
Explain Value Added Tax (VAT).

HE I T HATTH 7 S F 2
What do you mean by credit creation ?

T T IOT TS § 3T FT FHA £ 0

[Answer Limit :

[STT 9T
[Answer Limit :

[% gmn
[Answer Limit :

[Z=e 9
What do you understand by full convertibility of rupee ? [Answer Limit :

50 words]

: 50 words]

50 words]

50 words]
50 words]

50 words]
50 words]
50 words]
50 words]
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UTHIT STRREVS % I TSR 3R ST 31 [9ermT &g | [ZT% 5 : 50 words]
Give an account of the extincting occupation and industries of rural Uttarakhand.
[Answer Limit : 50 words]

I T WS ST F JUE AT 5T Y & 2 [S% =41 : 50 words]
What is the role of Mandi Committees in the plain agriculture of the State ?
[Answer Limit : 50 words]

YR FITTEIT § AT S0 & HREON & A Hiew | [Z9 9H@ : 50 words]
Explain the causes of industrial sickness in the Indian Economy.
[Answer Limit : 50 words]

HeH a1 % &7 | AETE i GHFH FT A H | [5=% =747 : 50 words]
Examine the role of NABARD in Micro Finance. [Answer Limit : 50 words]

Part -3/ ¥mT-3
Marks — 40 / 37 — 40
WME:  TH UM A FE 07 WA F | 3T TRl 05 WAl 1 ST T | U U % o7 08
375 R ¥ |
Note : There are 07 questions in this part. Candidate should attempt any 05
questions. Each question carries 08 marks.

‘U S99 T & 7 STRIETS 1 39 T &9 fohaHT Jergd & 2 [S7% | ;125 words)]
What is *Green Bonus™ ? How strong is the claim of Uttarakhand for it ?
[Answer Limit : 125 words]

TISE T & 7 30 AT H 169 WK ISR STTERT T Jrrel 14T & 2
[ST% F4T ;125 words]
What is SIDCUL ? How has it generated the employment opportunities in the

State ? [Answer Limit : 125 words]
TIETS T H So-[0g Seaee § S8 foams =/ & 2 [ST¢ 4 : 125 words]
What are the disputes related to the Hydro-electric generation in the Uttarakhand

State ? [Answer Limit : 125 words]

Torve =T Sren i TN 996 € & 2 Sk SO | Hea wiskar B 9 1 fertes |

[= &= ;125 words]
Why has World Trade Organisation been formed ? Explain in brief the process
involved in its formation. [Answer Limit : 125 words]

FIRIT 3 FHMAT THST U8 SeATEsha 95T %1 THEms | [STT 9T : 125 words]
Explain the Canon of equality and Canon of productivity in taxation.
[Answer Limit : 125 words]

2000-01 & 2013-14 7 37619 H YA % =9 ¥ G079 9 1 G B0 | 9T 9

= Rl AT Sl HHSIATE o & 2 [3T7 947 : 125 words]
Discuss growth in India’s trade to China during 2000-01 to 2013-14. What are the
potentials for India’s export to China ? [Answer Limit : 125 words]
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35

36

37

38

39

T FISE GIToid STIeqaegT 1 947 HG & 7 91 Hedi /18 2 [39¢ 94 ;125 words]
What is meant by a market driven economy ? What are its drawbacks ?
[Answer Limit : 125 words]

Part -4/ ¥rT-4
Marks — 80 / 3/ - 80
| T YT frg:W 07 U9F & | =47 ToF==T 05 U9AT 1 399 T | Uedss Uv % T 16
e FYNT 7 |
Note : There are 07 questions in this part. Candidate should attempt any 05
questions. Each question carries 16 marks.

HIFR T MG FIT & STHIOT 3 TG H AHEE A1 TG Hiisdh A1 TR0 1 TF
Bl & | 39 %97 i FHE | [T |7 : 250 words]
As instruments of economic policy of the Government fiscal policy and monetary
policy are complimentary to each other. Explain this statement.

[Answer Limit : 250 words]

TEE S F A H TS FreE] F a0 e | [Z=% = : 250 words]
Discuss the main methods of measuring National Income.
[Answer Limit : 250 words]

e T =% (HDI) $mﬁwﬁwﬁﬁv | 9RA % O 9=Y 0 B
T W TE & 3T 410 [3% F4T : 250 words]
Identify the main determinants of Human Development Index (HDI). With special
reference to India, which is most important and why ?

[Answer Limit : 250 words]

HieeTT 9T ¥ 37 FAVE & 7 3 SETs § 9K HAF UMH 9=9Gal § S9% 9ERT
e+ 9 39 <9 9 W E"{'&»" Y [ST7 94 : 250 words]

What is meant by Women Empowerment ? Has their greater participation in town
and village panchayats in Uttarakhand, made a progress in this direction ?
[Answer Limit : 250 words]

Tt ez & I T H ST HH S o & 7 T9H {:Iaﬂli':l T SITCRT T ST

B | [Z=T 9 : 250 words]
How is disequilibrium created in Balance of Payments of a nation ? Explain
policies to correct it. [Answer Limit : 250 words]

TR ETT SHET ST 9 T AHE £ 0 W 39 WIS B HATE F T H
HATITST Wl U oI9S ST ST ST Hhell & 2 [T 94 : 250 words]
What is meant by value addition through processing ? Can fruit production be
made a profit making industry through adopting this technology in the State ?
[Answer Limit : 250 words]

[S% 9 : 250 words]
State and evaluate the role of economic planning in India under the new economic
policy. [Answer Limit : 250 words]

Downloaded from: http://studymaratrronrcem:



